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INSTRUCTIONS TO CANDIDATES
1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.
2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

. 3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix

F Signature on the OMR sheet. As the answer sheets are designed to suit the Optical

Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
onemark each and Part— B contains 15 questions of two marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All'the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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PART -A
NMFIN - D

Note : Answer all questions. Each question carries 1 mark. . (1x40 = 40)
RS : 2o, BV 20302, B3BIR 1 08,

1. and are two major discoveries of 15™ century which led
to expansion of white colonies outside Europe. .
a) Spinning machine and telescope b) Gunpowder and steam engine
¢) Gunpowder and Mariner's compass d) Mariner's compass and telescope
&308) O30T ReRIRLI PODT SRBLNY WP tRORPRELE,
15 S 8BRS DO Fao0ed BTN,
a) SR 0308, &) BRTEIFF b) =00 D& 0B A 6308,
C) ROV DR Y DT BRYS d) S0¥S 0ER8 08y BeTrsrd

2. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b) Geothermal, Ocean, Solar and Nuclear
¢) Biomass, Solar, Wind and Tidal
d) None of the above
R0 TIO0T BOGIE RO
a) TORIE, R0, TOIN, T
b) s, mNT, AT w03 [
C) eBTd, X2, WO B AN SRS
d) SO oSRTBP &)
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3. GreenHouse gases such as carbbn diiﬁxide and methane cause

a) Increase in planet’s surface temperature by blocking sunlight

b) Decrease surface temperature by abs_orbing sunlight

¢) Increase planet surface temperature by trap.ping moisture

d) Increase planet surface temperature by trapping the heat in the atmosphere

BRTITS VO R z%eidzs‘ ) e

a) ARodr s $TEaroR B dmmas sgsods

b) Reohry aw)ddg{&oe@‘ ATAV OV aaas’ddg‘ TR SRR

€) S00IR BROL, BRR0CH oee], FoTBR) BegRFS

d) =oa30ees BT BB ZRR0CD e, TTBRY B3RS
4. Internet can be defined as

a) A software program installed onacomputer

b) An electronic device for printing docume‘n‘té‘f ,

¢) A world-wide collection of computer netwofk-s" 1

d) A power backup source

@o@&modﬁgt B3 5PNT0Z 3809, TWRBWWBIC)

a) Neasoogne) ORI 20023 TR0

b) cRaDrivety SboAen eusioensiad Sty mockd

C) dPwriod neagodogny e Aorm

d) DRyE* Beadsos IR |
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5. The fear of GM crops for human consumers are due to
a) Lack of information on long term effects on biodiversity
b) Religious practices are against modifying a species -
¢) Foreign genes in food may cause cancer
d) All of the above
BITR0ZD BONE GVIFNPN 10,T83) BRI FTed
a) 23ex FOF T e QNG DEPFTOTI WOFITINT Wi ASRPLOTITYT
b) Gos0Fd e5230m03E). QN evmedeents deses
C) B3 TOPFNBYTS BRTNE 23RN FYTOT G00e30eRTBIES ok
d) R0ed dTP

6. Protected land for conservation of wild life, plant and animal resources and
traditional life of tribals living in that area is known as

a) Sanctuary b) National Park

c) Biosphere reserve d) All of the above

B e3ea, AR, $308) T,£3 BOTRY FHOTIL AOTLINONT LT, WS WIS BoTFFBMON
QT BLeFeI), oL FEoK ?

a) egdodndty b) TRy e08) eVTRFES
C) BeRnR d) 20O P
7. What was the first disease to be treated with a specific chemical ?
a) Tuberculosis b) Syphilis
¢) Bacterial meningitis d) Whooping cough
DOF e, TOROCINT BROWOT3 238371k, ok, ST S50 03T ?
a) gob deent b} a$d=°
c) Rowod %I d) oo gy
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8.

10.

Radioisotope used in production of nuclear weapons in India is

a) Uranium b) Plutonium

¢) Thorium d) Radium

08 w9 R BodeOB0RE), eVReSReNRS D33E0 ReSmRow (isotope) SN,
a) odogecsdoo b) Fpednedoddo

¢) BRedod0 d) Seodo

Which of the following is an example of genetic variation ?

a) Two children have different eye colors

b) One person is older than another

¢) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian

B BINTHRPY, 03RTT0 W08 WHTF LR LUTRBIHOIING 9
a) wed e3ed g g BRoDT DO D

b) 2:)0N08 bR ERY,

C) 229 3300 BROQT) LR FetoZArt 3008 BQATIT

d) @Rt SRowTO0 BT 9B Bay, OOw* Ax 0

The moons of Jupiter are called

a) Satellites b) Simpleton

¢) Galilean d) None of the above
ROTINEHE NBRENTR) DT FE0SRNS ?

a) comn@ b) Acmers

c) RO _ d) 0O cIRRwe Y,
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11. Scientific studies of nature is necessary in society for

a) Simple curiosity and improve people’s lives

b) Economic development and enlightenment

c) Increasing control over our planet and its environment
d) Allthe above

RRRREG, T SoD 2% hq‘;oé @zégo:bair{ed 33 AR

a) BBEBOOT HINR BIT WIS RGORLD

b) &RFERF TN RN w&mes@#ﬁ

) gm0 wd) L0 TR oed RO PRI
d) B0edT QP

12. Which of the following is a weather sensing satellite ?
a) Astrosat b) Radarsat
¢) Meteosat d) INSAT3DR
B3 FINTYNSE, 0300 B osed NTNH ?
a) SRR b) SwTt AR
C) Q0L303RemR e d) ames*3DR
13. Father of Indian NuclearProgramme is
a) J.C. Bose b) HomiJ. Bhabha
¢) Vikram Sarabhai d) C.V.Raman
LRTIT FTRIERD O3z RIT
a) B2 BRR" b) Beed . yoy®
C) QBT RTLPWOI® d) 2.8. 0oROF°
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14. First Nuclear Power Piant set up in India is
a) Narora Atomic Power Station established in 1979 at Maharashtra
b) Tarapur Atomic Power Station established in 1969 at Maharashtra
c) Tarapur Atomic Power Station established in 1969 at Uttar Pradesh
d) Kakrapur Atomic Power Station established in 1969 at Gujarat
O3 SR S oS Doty WY, yTiEE HHFe e DRy RGO ARRERONE) 7
a) 1979 8Q, mmmd@d@w ;v%m SBped e m@aﬁd
b) 1969 3¢ dommﬁwde‘; R TTITYT Be0 m@dd
¢) 1969 09 g8 BB, A—%&s BOTIPT €360 m@dd
d) 1969 3¢9 zbucaa*a’@mm@&s FOTTO® e ?‘RT%)Egd

15. Which of the following technological advances are affecting human cognition,
ermotions and ethics ?

a) Bus, aeroplane, microwave ovens

b) Boilers, metro trains, television

c) Internet, cell phones, digital communication devices

d) Submarines, radars, missiles

FINS o3es 20087 @?p&”g)q)ob RGN BRFDT 905y, R TR 888N e
BOFTR LTS ?

a) WA, DT, BER e e (oven)

b) wo030?, Wotd Feo, BeoEsFS

C) ©oBT RO, B Foea® B3I BT IR

d) RePOBRFROTS, Swo0?, 5308 $30ed
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16. Blue revolution being envisaged by the Govt. of India is aimed at
a) Increasing industrial production of blue dyes
b) Augmenting pulse production
¢) Enhancing aguaculture products both in brakish and fresh water
d) Increasing fish production in fresh water 7'
P08 BOFTY) 83 BINS 03I w0t DedE,0800 q%eoéxaed@eédag RwRIZE 9
a) ded w%d §moT w%@ﬁ#@ éz;;’m@cb
b) a¥ YN GBS BRI
C) Ak TR RRVTT &Q@Dd@maﬁo%dagéﬁ g SRR
d) 28OS, E0ERR G BUBZHR, BRRRD

17. Which of these two provide proof of excellence of Indian metaliurgy before
industrial revolution ? ' ' -

a) Damascus swords of West Asia and iron pillar near the Qutub Minar

b) India gate and Gateway of India

¢) Tippu Sultan’s sword and palace

d) None of the above

B $9nS 03 FRTiE O TE8CH BETED RTINS AR PIYE ST
QB INFINS 7

a) @R DIW,B BRIOFAT B8 3083 BB LT WYOD BRSO 0L

b) cao@odm riess aod) Reesale &35 QORI

c) £33 RS B R TN

d) SO BRPTE B,
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18. Which one of these depletes the ozone layer and causes global warming ?

a) Nitrogen dioxide b) CFCs

c) Ammonia d) Allthe above

B3R BROAT a3 BRINEL Ladeen” Fesseoonotsd RNR PNST IDTRRTT DO
F000eNS 7 .

a) WORIIIE 58 @ ' b) 3Redne FREBRE TWFT®

C) 53RO d) 0S8 Qep

19. What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed b) Speed of light
¢) Speed of electron d) None of the above
RRODFSBOTE, oyTde 2,080 SR mqsmrbd @E%o@ Fenasw), ?
a) T3 Sod0 BFBe 8T SBenes), BROTWBITO
b) W Senod,
C) SRR Benwm),
d) B0edI CBRPTP Q.

20. Washing soaps contain
a) Potassium salts of fatty acids
b) Sodium and calcium salts of fatty acids
c) Potassium and sodium salts of fatty acids
d) Sodium salts of fatty acids
3090360 SUTO3RENRI AL 83 BINT 05T 90BTs) BpoDs ?
a) BRYR LR Fptaodo 0D
b) 3R &Ny wdoD0 WY RREBOI0 VLD
c) 3RRR ER AneRobo BB HprPA0D OB
d) By ey Aneacdo D
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21. Who was the father of White Revolution ?

a) Dr. Norman Borlaung b) Dr.M.S. Swaminathan
c) Dr. Varghese Kurien _ d) K.N. Bahal

TSR §¢0 52,0803 BOTIT 3R89

a) woll JOF S’ WReTYON b) woll 0. WR". m“waac;sa‘
Cc) @oll Shera* B0 d) 3.0 WD

22 Scientific management of animal livestock, breeding and diseases control is

a) Animal husbandry b) Animal based farming
c) Bothaandb d) None
RNPTNT FURPE RSB, 39 RF D 03) Bren doddogeesse
@ ]
a) [ RorReES b) 9,88 55008 T
c) a Wb TRER d) cInhue e,

23. Antimicrobial drugs that are derived from the natural processes of some
microorganisms and that can inhibit or destroy other microorganisms are

specifically known as what 7

a) Chemotherapeutic drugs | b) Probhylactic drugs

c) Semisynthetic drugs d) Antibiotics

Reg 3 SANFT BFo3Oo00T UBTT FOY Reg 236 - oy BRONEL 380
RAB 23N TR BRREIGES, B1 LU DDF TN D053 FEoDHRNZP 9
a) Sncide BRG b) G DEReFE BRG

c) &0 - 338 B d) Tdeerdened
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24,

25.

26.

Detergents are better than soaps in removal of greasy dirt because

a) They have longer fatty acids than soaps

b) They have surfactants which make them interéét with greasy dirt
¢) They contain less sodium and potassium

d) They are water repellents .

BRBFIND WWAINTN0S GUZR0E0N RES B0¥ FOTRNRIBS. 59360

a) TWRINCI W mwﬁ edgﬂr{%fdg‘ BRODES

b) e, SBRINTRROT, WA BRFOINTES [SFRLO WRIBAOTTNCS
¢) 3R AR T FPEPXCI0 BROD

d) o) BOIBRPNED

The process of softening of hard water by using nanopatrticles is known as

a) Nanopurificatioh b) Nanoremediation

¢) Nandfilteration d) All of the above

RRC TR TR LUTOIRENR QT TR T3,0300808, @08
F300UNIZT.

a) mRpe BOE0EN b) ~eeTOTT

c) Bee BreQdE d) 00T QP
Primitive.observers defined natural phenomenbn as an activity of

a) Super natural forces b) Humans

¢) Machines d) None of the above

SRPR0D BOT T B 23088 T,030030 DegFTd B3 W ORI Q0T
TRSTRYRROGTITD.

a) TPy By b) S»E0

c) 03008 ‘ d) BoeOT BRI WY,
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27. Science and Technology in Ancient India is a work by

28.

a) Joseph Needham b) D.P. Chattopadhyaya
c¢) Sushil Kumar Mukherjee d) John Bernard
‘TS RTBTE) 2 5 B3 B B PRI SBedFD

a) RRAT VP’ b) &. &. WeAREPER0D
c) Rodee® BITRTT 008D d) 2 WRFETF

DNA Finger Printing is used in Forensic test is based on
a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect’s
parents

c) Matching of the DNA sequences from specimens at crime site and suspect’s
children
d) Allthe above
2 = (Forensic) Bodpernocdd DNA 230y, OB SERTE 30eS 5@%{3
GactalCianle
a) eI ~@§d® Be083 SRwont 8083 Joid 3300 DNA 0BT BROTEE
b) e ,oe;fd BHTO :98) BodIT BT LT a‘aomodod DNA 295308303 B00%0es8

)
c) PL N%;?d o530 Foey 30833 wo7¥ DNA IRIBTT BROTVITE
d) 0O aqﬁdp

29. The radiant energy of the sun is due to

a) Nuclear fission b) Nuclearfusion
c¢) Radioactive decay d) All of the above
RROIFE $5TED BFOTD CINFHTOOTONG 2 :

a) PENNTH b) WORRED ARV
c) 800 IO d) 00 HQP

SPACE FOR ROUGH WORK
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30. Origin of Species is a work of
a) Mathew Arnold b) Charles Darwin
c¢) Albert Einstein d) Sigmund Freud
2305 2303 QUNTEOT 308030
a) SRR, BIFOT, b) ST E@DF
C) BOFF VIR’ d) .2rjoze® 5,037,
31. Who laid down the first accurate laws of motion for masses ?
a) Nicholas Copernicus b) Galileo
c) Oldham d) Einstein
Tpeo won cjdémén’ed WOz aodomﬁ@dﬁgpa)dmﬁ VBT ORTR
a) QBRCOR® BRCRVF TR b) OO wee
c) Lo’ d) TR
32. Photovoltaic energy is the conversion of sunlight into
a) Chemical energy : b) Biogas
¢) Electricity d) Geothermal energy
BT RTT FOID APTBYO30Y, &N DOBESFRIZT.
a) TomDOINB 3§ b) #0E o
c) T BB d) ez 3
33. New way of thinking, sparked by a philosophy known as
a) Humanism b) Socialism
¢) Behaviorism d) Politics
BRR SEREBSON F0D0INT 8,25 ,:5&53)
a) RTHzoms b) R&RRTT
C) RIFoes d) oowseod
34. The latest satellite launched by India is
a) Astrosat b) Rohini
c) GSAT18 d) INSAT3DR
93¢ g0 SUBONRT YV 03T 7
a) wﬁw@eméw b) Brecded
c) Wt -18 d) o, & -3DR
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35. A social science is the systematic study of

a) The natural world b) Models of reality
c) Human behavior and society d) Experimentation
ROEIOLT T »53@ B3 FBNS CIRRHTS §a’>>wd® wzésojodmﬁd ?
a) 53#?\?2? wod b) Jwdcd Z"ﬁiad@
C) BRIR SFSVE R0BY RBNW d) sm,03ReNss

36. The lens used to construct a Microscope
a) Convex b) Concave
c) Biconvex d) Biconcave
ziraﬁbdzfrﬁd B30 GUB03RENRIR 0BT ORI ?
a) e DORRT b) {3, ToRRT
c) Qs-c?ot’d RORRT d) Q\j—:odgt SoRRT

37. Most likely event which can cause a rise in the average temperature of earth’s
atmosphere in future is

a) Forest fires

b) CO, from fossil fuels

c¢) Dust clouds from volcanoes

d) Depletion of earth’s ozone layer

zgﬁm’%dcﬁmmmoja BRNIBE, WORO SITRIE  WOFR 03T aqmmocs
RodaRIs 7@635:% éza%j 9

a) wagh,

b) BP0 AOFINPOT V0BT BOTDLITY,

c) za%emdwabﬁ@od BROBRABRS BRI BRCBRD

d) P00 WP BETT ReSBP
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38.

39.

40.

Plants with green and tender stems are called
a) Herbs

b) Shrubs

c) Trees

d) Allof the above
o efos) TOOWBI, BROETT RRTGR), Q0T FS030T.

a) N3

b) Soweds

c) @28

d) 0O 3P

High Yielding Vériéfy Seeds (HYV) were ihtroduced to Indian farmers as a
result of :

a) White Revolution ' b) Green Revolution

¢) Red Revolution d) Orange Revolution
B, A0 3T WeRTIR), 1002 Bort wordonatss HomomomseRd 9
a) 335,08 N b) w08

c) dommos | d) s39m308

Who is known as the father of Indian Monsoon Model ?

a) Madhavan Nair b) Vikram Sarabhai
c) Vasant Gowrikar - d) C.N.R.Rao
LRTBT BROTRT BRTB BIRIONG WIF 0T BRI, BSORNAE ?
a) BNFID® F030* b) &8 ZoTOLRI®

C) WROBNMPOBTT - -d) R . 0°. T’

SPACE FOR ROUGH WORK




AN a7 NS - 628

PART -B

TN -V
Note : Answerall questions. Each question carries 2 marks. (15%2 = 30)
Rous: O FIRI) eugdr. e BTS2 wosrish.

41. Match the Philosopher/Scientist with their contribution :

Scientist Contribution
A.-Aﬁstotle - I.. Three laws of motion
B. Newton ii. Laws of inheritance
C: Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=iii, B=i,C=iv,D =i b) A=iii, B=iv, ® =i, D =ii
c)A=iv,B =i, &=ii, D = jii d) A=ii,B=i, C=iv, B =ii
3220/ 0wy PN, 90 @R BRoBIES B00INE Bl :
NP LYol
A. somises i Bodod Bt Ao
B. Sgu ii. R8s oONED
C. fno® Soordes iii. To0ER, ks B3
D. rddo3ne - iv. #2528 s
a) A=iii, B=i,C=iv, D =i b) A=iii,B=iv,C=i,D =ii
c) A=iv,B =i, C=ii, D =iii d) A=ii,B=i, C=iv, D =iii

SPACE FOR ROUGH WORK
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42,

43.

For a fixed mass of gas at constant temperature, if we decrease volume, the )

pressure will
a) alsodecrease b) increase
€) remains constant d) none of these

ATEE BTRRT/ VTROBIS 2,003 A0 500 BRSO [ommes(volume) B B
BRRET, 3B Slvcial

a) BRI

b) g

C) ATTNNZLS

d) 20O cnPme 8

How stationary waves are formed ?

a) Atransverse wave superposing a longitudinal wave

b) Two waves of the same speed superposing

¢) Two waves of same frequency travelling in the same direction

d) Two waves of same frequency travelling in the opposite direction
AT & Berd evosnrogss 9

a) 2,00 FIF 35030 URBS08 9030033 #0ees Weskds BOoR

b) ozl Fencs 0@ e 20t3B Boetpomd L EoeR

C) 0T3¢ &5330D TR LR 2.0t DY BOR*YTO0T

d) 2.0z 533030 DT> 9&Sed TG, BYRS WORFTO
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44. Informed public with science and technology background are necessary in a

45.

Democracy. .
a) To convey to state necessity and feasibility of intended science business

b) To deliberate on diverse views on merits and demerits of technology to select
right ones )

c) Tobring transparency in technology based business, policy-making on vital issues

d) All of the above )

TeRTRB T 2% 2P W Bogm I S0TTFIN, BRI @33, 20D

a) Ty F wvriess omy 2F-308 3 - o Rlo e ole vt TODF ARG B rf
PR

b) gy g&j@edﬁﬁ?od B0 58 TGN wrf wedrneods :daomddaag wody
Snwen |

C) 303w 4 -0 masmd/mséz% HOWMGS >0 QeINIE) T8 e

d) e exge

Importance of information technology in education are
a) Faster access to information from across the globe
b) On-line libraries and dictionaries, make grasping and learning easier

¢) IT based communication systems such as emails, SMS help interaction for Clarity
d) Allthe above

80T Brtad Lo an) 5 a:gd.m%éﬁ%

a) TBFowE e Bwenvod O3, Wnkd i3

b) - Romorg W08, W Rvon wEcny 06, M8 o=y BB w3

C) BRkbeE-303en 2P0 ROWB wEInveriemails, SMS w08 ngagg
d) RO exgp

SPACE FOR ROUGH WORK
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46. Match the scientists and their discoveries :

Scientist Discovery
A. Alfred Nobel "i. Vaccination
B. Edward Jenner <ii. Electric bulb
C. Newton ® ii. Gravitational force
D. Thomas Alva Edison ” iv. Dynamite

a) Asii,B=i,C=iv,D =i
b) A=iv,B=ii,C=i D=i
¢) A=iii, B=iv,C=i,D =i
d) A=ii,B=i,C=iv, D =iii
29N ety BR0R) S0 SOTTNET FROBRO:

NP eam'%d
A. eﬁ%w Sree® i, o8
B. az%m‘rﬁajp‘ ii. ad%af Qe
C. Spus iii. rbdaaaﬁaﬁrraaﬁg
D. mRw° &e, QRIS iv. syt

a) A=iii, B=i,C=iv, D =ii
b) A=iv, B =ii,C =i, D =ii
c) A=iii, B=iv,C =i, D =ii
d) A=ii, B=i,C=iv, D =i
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47.

48.

Which statement best describes the structure of anatom?- -

a) Atiny nucleus of protbns and neutrons with electrons orbiting around it

b) A positive core surrounded by electrons packed tightly around it

¢) A particle comprised of é mixture of protoné, electrons and neutrons’

d) Alarge core of protons and electrons surrounded by neutrons

E¥loTvr) mdﬁg{é& BINS o= Dews DTORZTS 9 ‘

a) TP 3By IR RIS 28, ww 2" 90T e33R AR §T 20> Reg Feogy
b) &) S Per Rod)moss wors Pogs deors

€) R e, IR DY WIF) I 2085033 2,053 Beo

d) Semanrves RORTHOT o e B8 655 2,57 2,00 Bru ooty

Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles

b) Motion of heavenly bodies around the earth

¢) Motion of planets around the sun

d) Motion of satellites arouhd the planets .

REnCORT neRrE Red, 003 Bajombie We RCbatsERS, Ny
woRod) 83 FINSos G FRBOTD.

a) Driped s deso oS

R R ———

¢) RRYI A nEnd wos

d) nEnd 23 evsnsne e
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49. Ancient Indian knowledge of theories on human body, symptoms of disease and

50.

51.

52.

remedies in ayurveda are made available in which Sanskrit text ?
a) Arthashastra b) Charaka Samhita
c) Chandasshastra d) Aryabhatiya

SRR 3060 B, Beennd rbsaoﬁhmr{e&o BB SN 2388 303008305 T3 T3 5&)’?&3{
o3RS TR odna oRS oBRY, oW ?

a) BPFIR, b) %308 ok

c) GodzR, d) esgyfesecd

Nano smart materials that alter shape under the influence of an electric field is
a) Thermoresponsive materials b) Polychromic matetials

c) Electrochromic materials d) Piezoelectric materials

AN 333 TR0 BRY TR0, LITISDORI FYRE 233 (nano smart)
RRPFNT DOT FBCI0.

a) Vg TR TN b) tIBIEERF FRINED

C) D8R BRENT BRI d) Bereadys® RN
Second stage of the industrial revolution

a) Consumable goods production b) Capital goods production
¢) Standardization d) Productivity

30w 52,0803 QTS B0 03RRI, ROWoRRT), ?

a) BT RoBors s  b) oy ROBNY YUBITS
c) RRredesTed d) evearss

Which of the following is true for “Sound” ?

a) Sound cannot travel through avacuum  b) Sound cannot travel through gases
c¢) Sound cannot travel through liquids d) Sound cannot travel through solids
‘Beyg B 2SN 03T ROBROTIZE ?

a) eoF3 (vacuum) Roped BORTR b) ©RON Bwes BORITTO

c) QRN Bowes BORTID d) FINY o BORRTI
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53. Which of the following definition for ‘Science’ has been coined by Carl Sagan ?

55.

a) Science is a way of thinking much more than it is a body of knowledge

b) Is an intellectual activity carried out by humans -

c) Science is a knowledge covering general truths of the operation of general laws
d) All of science is uncertain and subject to revision

POF AT Tod e 53 w9, 03,3

a) I o) ,qu PorURE SRt BRnrmond

b) &TEDH S@RS eword w’@tfgpa* 2363053638

C) AR, RE, B T2, OIS isw%aa’dﬁojﬁgw{md ok

d) QRS 0se EROF R, ) ST uvmﬁéﬁd%

. Difference between hybrid and transgenic or GMO plants

a) Hybrids live longer and transgenics live shorter

b) Hybrids arise due to cross pollination, while transgenics are produced by transfer
of specific genes from different species

¢) Hybrids are generated from grafting but transgenics result from germination

d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled

Y T3 260030 TYNENT [ER

a) FBINO DeTPE PO, BoR0BON: VOO WSS

b) Qogzeneh &8 ToarE 030000053 SUBIOIRTT, Boe0080 JLrich QOFF, R0Todecd
mmﬁ@ v3eB 2803 R NP0 dRBR PUBORSOAT

C) Q0BBINE BN BRI TO0E 30302 3S , &woa’érf@.ﬁd% a”ua%féos;)od 303»@#@07{3_3953

2

d) QoZBeNSY) w088 searted BT DOD0ZLTOT , BCHETONYES) B> RatAY

The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environment change b) Global warming

¢) Health change ‘ d) None

ageeds wBBFE), m&eeﬁwd R0 FNTs BowRod aaaﬁmdde‘.}q FOBRVIOBTIT DOFOTN
a) TBEOBNT WEIRH ‘ b) N3 BTIRIZ DB

C) sBRen T wEeRBE ‘ d) amFee v
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